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2—=71y FOHRREZHWT, RO—XAEH RO —MOEEIE (z,y) ZRd X.

(1) 8z + 6y = 10

(2) 452 + 12y = 21
(3) 120z + 55y = 40
(4) 91z + 7Ty = 42
(5) 198z + 77y = 99
(6) 533z + 390y = 52

12—y FOHBREZT, RO—RXAETRADETDIRLEM (2,y) 2K X.

1) 21z + 15y = 12

2) 92z + 24y = 12

3) 1361 + 96y = 24

4) 180z + 75y = 45

5) 76z + 48y = 76
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(6) 531z + 405y = 90

OfiR
UTIEd P20 IERO—BlTh 5. ficbiEMads. (1) (z,y) = (5,-5) (2) (2,y) = (~7,28) (3)
(z,y) = (—40,88)  (4) (z,y) = (—30,36) 5) (z,y)=(18,-45)  (6) (z,y) = (44,—60)
c

POl ¢ REEOMEL (59 A=) LT 5. ROFREHITH Y, i bROETNH S, (1) (2,y) = (—8+5t, 12—
) (2) (my)=(-3+6t,12-23t)  (3) (2,y)=(15+12t,—21—17t)  (4) (x,y) = (—6+5t, 15— 12¢)
(5) (2,y) = (=95+12t,152—19t)  (6) (x,y) = (—160 + 45¢,210 — 59¢t)
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